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flx)= 100(3:2 —:rlz) +(1—x1)2,
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x%+x22 <1
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Note Rosenbrock’s function is a standard test function in optimization. It
has a unique minimum value of 0 attained at the point (1,1). Finding the

minimum is a challenge for some algorithms since it has a shallow minimum
inside a deeply curved valley.

function £ = rosenbrock (x)
f = 100*(x(2) - x(1)"2)"2 4+ (1 - x(1))"2;

function [c, ceqg] = unitdisk(x)
c =x(1)"2 + x((2)*2 - 1;
ceq = [ ];
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Solver: fmincon - Constrained nonlinear minimization

Lo

Algorithm: | Active set

~Problem
Objective function: | @rosenbrock fod
Derivatives: Approximated by solver =2
Start point: f[o 0]
Constraints:
Linear inequalities: A b:
Linear equalities: Asq: beq:
Bounds: Lower: Upper:
Nonlinear constraint Function: |@unitdisk
Derivatives: Approximated by solver v
W

=] Display to command window
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Optimization running.

Optimization terminated.

Objective function value: 0.04567571111479972

Optimization terminated: magnitude of directional derivative in search
direction less than 2*options.TolFun and maximum constraint violation

is less than options.TolCon.
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Final poink:

0.736

0.615






